Karte

F1
Aufgabe

F14
Die
richtige
Ausfahrt

Tabellel

Ergebnisse Einzel

1 _007 1 7 8
2 Bumblebee 1 20 21
3 Rudiger 1 10 11
4 Fathi 1 30 31

Ergebnisse Konkurrenz

je 3 Punkte pro je 10 Punkte pro

Robi Lebt (1) FG auf dem Roboter FG im Ziel Summe
1 _007 1 3 4
2 Bumblebee 1 20 21
3 Rudiger 1 10 11
4 Fathi 1 10 11
2 Bumblebee 1 20 21
4 Fathi 1 1
1 _007 1 1
3 Rudiger 1 20 21
2 Bumblebee 1 20 21
3 Rudiger 1 20 21
1 _007 1 7 8
4 Fathi 30 30

Aktuelle Punkte

Punkte

1 _007 21 4

2 Bumblebee 84 im Finale! 1

3 Rudiger 64 3

4  Fathi 73 im Finale! 2
Finale

P pro OP pro

2 Bumblebee 1 1

4  Fathi 1 10 11
1. Platz Fathi
2. Platz Bumblebee
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